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SR AY 5RTEL A
o2& g7fjolct.

S 4 -3, -2,
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4. x7b-1Hoh 393 ZA2 Fgolth x, —x, -39 WA BAE
HE2 7] B A2

DO x<-x<-3 @ -3<x<-x ® x<-3<-x
@ —-x<-3<x @—3<—x<x

-1HG 3T A2 FE=-1-(-3)=2°th. Fx=2, —x=
-2, O]E& -3 < —x<x O}




5. A=(-3)3+(-9)x(-12)+22  B=(-6)2+18x (-22)+2 4 of,
Ax B 9| gt Fotofet.

>

[> ®EFD 36 B= +36

~&B

A = (-3)3 + (-9) x (-12)+22
= (=27)=(=9) x (~12)+4
=3x (-12)+4
= (=36)+4 = -9

B = (-6)? + 18 x (-2%)+2
= 36+18 x (-4)+2
= 2% (—4)+2
=4

LAXB=(-9)x(-4) =36




7t=2] Zol7t 5em, A=) Zol7t xem, Wol7k yem §l 2
et wlo] yoF A= xAto] o] FA A7

D y=2x @ y=3x ® y=4x
(@)y:5x ® y=06x

(RAZR S o)) = (12) x (AR) ©| B2 y = 5x°]t.
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of Hejgor47t g o)1, Fol 810 L u, o] 5 49 A4

T 9 A, B 9] HAHFFTE G, HAaFHISE L o=t & o,
GXL=AXB
810 = 9 x (F|&-F <) o]},
L (H a3 = 90




10.

G4t AR BB Soph BUHAS BASAEU 49 FU

5070 0], 146 309 31 stk ol W, BO BY 4k x
Ao, 18]yl 514 skt Bo] BU) 47k 30 4L w), BEU
18 59 458 Tahu?

@ 30 (22)50 ® 70 @ 90 ® 100

~EB ~
AEYST x A4 = BEUS x 8- Ao thdstd
50 X 30 = xy
1500
- X
Bl w49l 47} 30 7H o]t
x=30< tHYstH y = 500]tt.




